LEMF(")RDER@
o 4R R

03.94-12.02
& | Stange/Strebe, Stabilisator / Link Stabiliser @1|{x2) 16653 02  4D0 505 465D
Pendelstange / Suspension Rod (95)

ALL TYPES

27030 01%

25614 01 iR

o= | Spurstange / Rod Assembly eni@ 25332 01 4EQ 413801 E

825336 01
ALL TYPES 25614 01
4 | Spurstangenkopf / Tie Rod End @@ - 2533601 4E0419811E
Durchmesser [mm] / Diameter [mm]: 20,5 (54)
Gewindemaf 1/ Thread Measurement 1: M16x1,5 (64)
ALL TYPES i
= | Axialgelenk, Spurstange / Tie Rod Axle Joint ®| @@ 2561401  4E0419821A
GewindemaR 1/ Thread Measurement 1: M16x1,5 (64)
GewindemaR 2 / Thread Measurement 2: M16x1,5 (65)] - ﬂ
ALL TYPES .
= | Lenker, Radaufhiingung / Track Control Arm 15| A@D 2702701  4EQ407505E |
Querlenker / Control Arm (96) .
mit Gummilager / with rubber mounting (200) .
ALL TYPES ausser/except for :
S8 quattro 06.06 - 07.10
o= | Lenker, Radaufhiingung / Track Control Arm 5 A@®D 27028 01 4E0 407 506 E
Querlenker / Control Arm (96) .
it Gummilager / with rubber mounting (200) ﬂ&% ('\P Peo
ALL TYPES ausser/except for : - —
S8 quattro  06.06 - 07.10 —Rom T
= | Lenker, Radaufhdngung / Track Control Arm 15 A@D 2702901  4E0407 509 E Con oL
Querlenker / Control Arm (96)
mit Gummilager / with rubber mounting (200) pf-\ ,Q M S
ALL TYPES ausser/except for :
S8 quattro ____0e.06 -07.10 -
= | Lenker, Radaufhéngung / Track Control Arm 15 A@D 2703001  4E0407 510E
Querlenker / Control Arm (96)
mit Gummilager / with rubber mounting (200)
ALL TYPES ausser/except for :
S8quattro - 06.06 - 07.10 o
& | Lenker, Radaufhingung / Track Control Arm 15| YD 2714501 4E0 407151 L
Querlenker / Controf Amm (96} 27148 0
mit Gummilager / with rubber mounting (200) . __—
ALL TYPES > @

194 ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 {97424 Schweinfurt | Germany | info.zf-services@zf.com | www .zf.com



LEMF()RDER&

o D B % i & A Re

AUDI
A8 (4E ) ' - 10.02 - 07.10 : ' ,

@ | Lenker, Radaufhingung / Track Control Arm 15 YOO 2714601 4E0407 693N

Querlenker / Controt Arm (96)

mit Gummilager / with rubber mounting (200) s
ohne Zubehor / Without accessories (231) ‘

3.0, 162 kW 08.03 - 07.10 |  |->07.2004

3.7 quatiro 10.02 - 07.10 ->Chass. 4E-5-004 000

4.2 guattro 10.02 - 07.10

3.0 TDI quattro, 171 kW 08.03 - 07.10 07.2004->

Chass. 4E-5-004 001->
fiir Fahrzeuge mit Reifendruck-Kontrolisystem {(133)
1 For vehicles with tyre pressure control system
4.0 TDI quattro 03.03 - 07.10 ->Chass. 4E-7-013 420

4.0 TDi quattro 03.03 - 07.10 ->07.2004

->Chass. 4E-5-004 000

07.2004->

Chass. 4E-5-004 001->
{iir Fahrzeuge ohne Reifendruck- (162)
Kontrollsystem / For vehicles without tyre
pressure control system

6.0 W12 quattro 12.03 - 07.10 ->Chass. 4E-7-013 420
4.2 TDI quattro, 240 kW 07.05 - 07.10
32F8i 06.05 - 07.10 fir Fahrzeuge mit Reifendruck-Kontrollsyster |(133)
3.2 FSli quattro 06.05 - 07.10 | For vehicles with tyre pressure control system|
. ->Chass. 4E-7-013 420
4.2 TDI quattro, 235 kW 07.05 - 07.10 ->Chass. 4E-7-013 420
4.2 TDI quattro, 235 kW 07.05 - 07.10 ->07.2004

->Chass. 4E-5-004 000

07.2004->

Chass. 4E-5-004 001->
fiir Fahrzeuge mit Reifendruck-Kontrollsystem [(133)
/ For vehicles with tyre pressure control system

4 | Lenker, Radaufhingung / Track Control Arm 15 Yo 2714701 4E0407 694N
Quertenker / Control Arm . (96)
mit Gummilager / with rubber mounting (200)
chne Zubehér / Without accessories (231
3.0, 162 kW 0803 - 07.10 ->07.2004 B
3.7 quattro 10.02 - 07.10 ->Chass. 4E-5-004 000
4.2 quaitro 10.02 - 07.10
3.0 TDHi quattro, 171 kW 08.03 - 07.10 07.2004->

Chass. 4E-5-004 001->
fir Fahrzeuge mit Reifendruck-Konfrolisystem |(133)
1 For vehicles with tyre pressure controf system
4.0 TDi quattro 03.03 - 07.10 ->Chass. 4E-7-013 420
4.6 TDI quattro 03.03 - 07.10 ->(7.2004

. ->Chass. 4E-5-004 000

07.2004->

Chass. 4E-5-004 001->
fir Fahrzeuge ohne Reifendruck- {162)
Kontrollsystem / For vehicles without tyre
pressure control system

6.0 W12 quattro 12.03 - 07.10 ->Chass. 4E-7-013 420
4.2 TDI quattro, 240 kW 07.05 - 07.10 s
3.2FSI 06.05 - 07.10 fir Fahrzeuge mit Reifendruck-Kontrollsystem |(133)
3.2 FSI quattro 06.05 - 07.10 / For vehicles with tyre pressure controf system,
->Chass. 4E-7-013 420
| 4.2 TDI quattro, 235 kW 07.05 - 07.10 ->Chass. 4E-7-013 420
4.2 TDi quattro, 235 kW 07.05 - 07.10 ->07.2004

->Chass. 4E-5-004 000

07.2004->

Chass. 4E-5-004 001->
flir Fahrzeuge mit Reifendruck-Konfrolisystem 1(133)
{ For vehicles with tyre pressure control system

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12| 97424 Schweinfurt | Germany | info.zf-services@2zf.com | www.zf.com 195



LEMF(")RDER@S

- .
| o R R L2 i B A Rer
A8 (4E ) , 10.02 - 07.10
4 | Reparatursatz, Radaufhingung @n| A 2765901 N 105768015
Repair Kit, wheel suspension
achsschenkelseitig / Stub axle side (109)
fir Querlenker / For control arm (180) 4@
Gewindemaf / Thread Size: M10x1,5 (63)
mit Rechtsgewinde / with right-hand thread (206)
flir OE-Nummer / For OE number 8EQ 407 505 A (177)
fiir OE-Nummer / For OE number 8E0 407 506 A (177)
far OE-Nummer / For OE number 8E0 407 509 A (177)
fur OE-Nummer / For OE number 8E0 407 510 A (177)
fiir OE-Nummer / For OE number 8E0Q 407 505 C (177)
fiir OE-Nummer/ For OE number 8E0 407 506 C (77
fir OE-Nummer / For OE number 8E0 407 509 C (177)
fir OE-Nummer / For OE number 8E0 407 510 C 177}
fiir OE-Nummer / For OE number 4E0 407 505 B (177)
fiir OE-Nummer / For OE number 4E0Q 407 506 B (177)
fur OE-Nummer / For OE number 4E0 407 509 B * (177)
fir OE-Nummer / For OE number 4E0 407 510 B 177y
ALL TYPES
= | Lagerung, Lenker / Controi Arm-/Trailing Arm Bush (1) V@@d(ﬂ) 2712601  4E0407181B
fiir Querlenker / For control arm (180}
| ALLTYPES T
o= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush an veode 2714801 4E0407 182C
fur Querlenker / For control arm (180) :
ALL TYPES
J
o= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush 1 A@DD(x4) 29318 01 »8D0 407 515
fiir Querlenker / For controf arm (180) 5

ALL TYPES

->Chass. 4E-8-014 200

4 | Lagerung, Lenker / Control Arm-/Trailing Arm Bush | Yo 3072301 4E0407183B
fiir Querlenker / For control arm (180}
3.0, 162 kW 08.03 - 07.10 ->(07.2004
3.7 quattro 10.02 - 07.10 ->Chass. 4E-5-004 000
4.2 quattro 10.02 - 07.10
3.0 TD! quattro, 155 kW 11.03 - 07.10
3.0 TDI quattro, 171 kW 08.03 - 07.10
3.0, 162 kW 08.03 - 07.10 07.2004->
3.7 quatiro 10.02 - 67.10 Chass. 4E-5-004 001->
4.2 quattro 10.02 - 67.10 fiir Fahrzeuge mit Reifendruck-Kontrollsystem |(133)
3.0 TD1 quattro, 155 kW 11.03 - 07.10 / For vehicles with tyre pressure control system|
3.0 TDI quattro, 171 kW 08.03 - 07.10
6.0 W12 quattro 12.03 - 07.10 ->Chass. 4E-7-013 420
4.0 TDI quattro 03.03 - 07.10
4.2 TDI quattro, 235 kW 07.05 - 07.10
4.2 TD! quattro, 240 kW 07.05 - 07.10
3.2FSI 06.05 - 07.10 fir Fahrzeuge mit Reifendruck-Kontrolisystem {133}
3.2 FSi guattro 06.05 - 07.10 { For vehicles with tyre pressure control system
->Chass. 4E-7-013 420
o= | Stange/Stirebe, Stabilisator / Link Stabiliser 6H@® 30536 01 4E0 411 317E
flir Pendelstange / For suspension rod (179)
ALLTYPES
& | Lenker, Radaufhdngung / Track Control Arm (15) 27984 02 4E0 501529 G
Querlenker / Control Arm (96)
mit Zubehdr / With accessories (209)

ALL TYPES

196

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 [ 97424 Schweinfurt | Germany | info.zf-services@zf.com | www.zf.com

Curpen ™
REVSion
i

i W

C

wppep
FRowvi

BusHing

Al Fm@)



LEMFORDER A
‘p_f'Q i DQ Lﬁl Ref.

AUDI
A8 (4E. v ' 10.02.<07.10

o> R

= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (1 V@@(f 35031 01 4E0 5051711
ALL TYPES
= | Lagerung, Lenker / Control Arm-/Trailing Arm Bush (1 V@@d 3503201  4E0505171N
ALL TYPES N .
=» | Stange/Strebe, Stabilisator / Link Stabiliser @) @@ 2677601  4F0505547L
Koppelstange / Coupling Red (79)
3.0, 162 kW 08.03 - 07.10
3.7 ‘quatiro 10.02 - 07.10
4.2 quattro 1002 - 07.10
6.0 W12 quattro 12.03 - 07.10
3.0 TDI quattro, 171 kW 08.03 - 07.10
4.0 TDI quatiro 03.03 - 07.10
= | Stange/Strebe, Stabilisator / Link Stabiliser @1y @® 26777 01 4E0 505 548 L
Koppelstange / Coupling Rod (79) 4
3.0, 162 KW 08.03 - 07.10
3.7 quattro 10.02 - 07.10
4.2 quattro 10.02 - 07.10
6.0 W12 quattro 12.03 - 07.10
3.0 TDI quattro, 171 kW 08.03 - 07.10
4.0 TDI quattro 03.03 - 07.10
& | Stange/Strebe, Stabilisator / Link Stabiliser @n|(x2) 2702601  4E0505465G
Pendelstange / Suspension Rod (95)
2.8FSI 08.07 - 07.10
3.0, 162 kW 08.03 - 07.10
3.7 quatiro 10.02 - 07.10
4.2 quattro 10.02 - 07.10
6.0 W12 quatiro 12.03 - 07.10
3.0 TDI quattro, 171 kW 08.03 - 07.10
4.0 TDI quattro 03.03 - 07.10 |
= | Achstrégerlager / Mounting, axle bracket OO 2731201 4E0 505 145 A
ALLTYPES ) )
ALLROAD (4BH) =~ == 05.00 - 08.05

o= | Spurstangenkopf/ Tie Rod End (28)| @ 25863 01 4F0 498 811
Aussengewinde {mm] / Outer Thread [mm]: M14x1,5 (41)
mit Rechtsgewinde / with right-hand thread (206)
2.7 T quattro 05.00 - 08.05 ->Chass. 4B-2-150 000
2.7 quattro 09.00 - 08.05 ->06.2002
2.5 TDI quatiro, 132 kW 05.00 - 08.05

ZF Friedrichshafen AG | ZF Services | Obere Weiden 12 | 97424 Schweinfurt | Germany | info.zf-services@zi.com | www.zf.com 197



